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In the Name of Allah, the Most Gracious, the Most Merciful

Paper Pattern

MCQs 40
Short 4
Short 4
long 4

each 1 mark

each 2 marks
each 3 marks
each 5 marks

Question No : 1 of 52 Marks: 1 (Budgeted Time 1 Min) Ijl

What method must appear in the following declaration? =

public class abe extends JFrame implements ActionListensr

e 'WWW.VirtualAcademyLive.com.

| (af:’rio-: Performed (s
I

getactionCommand(y

addActionListener(y

windowClosad ()

; YNade by: YWaqar Siddh

Question No : 2 of 52 Marks: 1 [Budgeted Time 1 Min) Ijl

The HTTP response vahues i the range specify that the request was successfil =

Answor  Please sloctyour conoctoption 'WWW.VirtualAcademylLive.com.

100-129

200-299

300-359

400-499

: ONade by: YWaqar Siddhe




Question No : 3 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

There izfate form(s) of response redirection

Answer | Please select your comect option |

-

e

WWW.VirtualAcademylLive.com

YNade by: YWaqar Siddh

Question No : 4 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Wiith the help of

we can better organize our files imnto different directories.

Answer | Please select your comrect option |

e

~

——
Pacleage:
~

Question No : 5 of 52

Clagses

WWW.VirtualAcademylive.com.

Inerfaces

Session

YNade by: Yy/aqar Siddhe

Marks: 1 (Budgeted Time 1 Min) (=)

A bean class have a zere argument constructor

Answer | Please select your comrect option |

-

Can

WWW.VirtualAcademylLive.com

YNade by: YWaqar Siddh




Question No : 6 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Which information a Tag Library Discriptor (Hd) file speciies?

Answor (Piease selectyour corrct pton WWW.VirtualAcademylLive.com

-

Tag ibrary version / ISP version

Tag nare / Tag Handler class name

Annbute narmes

=
- -

C-"'"' All of these

YNade by: YWaqar Siddh

Question No : T of 52

Marks: 1 (Budgeted Time 1 Min) (=)

MV stands for

Answr ( legse selec your corot pton) WWW.VirtualAcademylive.com

Maodel View Content

Maodel View Controller

Mulh View Controller

ulhy View Content
~

YNade by: Yy/aqar Siddhe

Question No : 8 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

High coupling makes classes difficult or spossible to reuse because

-

Answor (Piease selectyour corrct pton WWW.VirtualAcademylLive.com

They are independent of other claszes

—

<

L—__

E&y depend on so many other classes

They have lrvited finctionality

They are not properly mplemented
YNade by: YWaqar Siddh




Question No : 9 of 52 Marks: 1 (Budgeted Time 1 Min) (2]

Layers represent the wiew of appleation

Answor (Piease selectyour corrct pton WWW.VirtualAcademylLive.com

Physical

-

Logical

External

. None of these [m"de b,: w;.qnl' 6i‘ldh

Question No : 10 of 52 Marks: 1 (Budgeted Time 1 Min) a

-

If wa do not handle exception while using I/O files then it will lead to

A

Answor (Please selectyourcomroct opton WWW.VirtualAcademylive.com.

Logical arror

Compile tme error
~
Fun-times error

 OMade by: Waqar Siddhe

Marks: 1 (Budgeted Time 1 Min) (=)

-

Question No : 11 of 52

Which of the following problem most often occurs while scheduling threads using priority scheduling?

gur corrct option WWW.VirtualAcademyLive.com

Starvation

Process death

Average waiting time

; Mone of the given options tm"de b,: wnqn r &i dd I, !




Question No : 12 of 52 Marks: 1 (Budgeted Time 1 Min) (2]

Which of the following component isf are used in directory Structure of web components?

Answor (Plesse selectyour corrct pton WWW.VirtualAcademylLive.com

html, JSP, Images =tc..

-

eb.zml, Classes folder

L—_

liby, jar files

.| Al ofthe given options [m"de b,; w‘lan &i‘ldhﬂ

Question No : 13 of 52 Marks: 1 (Budgeted Time 1 Min) a

The dot eperator in Expression Language i3 typically used for accessmng the -eesssmsemcsmmmcaeas of an ohject

Anewor (Ploase seloct your corect opion) WWW.VirtualAcademyLive.com.

[ >
[ —— -

Elements

Waluss

== YDade by: YWaqar Siddhe

Question No : 14 of 52 Marks: 1 (Budgeted Time 1 Min) (2]

Which of the following object is passed as an argument to the paint { Y method?

Answor (Piease selectyour corrct pton WWW.VirtualAcademylLive.com

A Canvas object
~

A Graphics object

An Image object

5 4 paint object [m"dg b,: wnqﬂ' &iddhﬂ




Question No : 15 of 52 Marks: 1 (Budgeted Time 1 Min) (2]

Servlets handle requests sent by the user (chents) and generates response.

Answor (Plesse selectyour corrct pton WWW.VirtualAcademylLive.com

Both statie and dynamie

; Hone of the given ophions ”D"de b,: wnqn' &iddh"l

Question No : 16 of 52 Marks: 1 (Budgeted Time 1 Min) a

Which of the following 15 WOT a standard method called as a part of the TSP hfe cycle?

Answr ( legse selec your corot pton WWW.VirtualAcademylive.com

_jspService()
o
jsplestray)
c ONade by: YWaqar Siddhe
Question No : 17 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

TavaBean i3 afan

Answer ( Ploage salactxgup corroct option | WWW.VirtualAcademyLive.com

Special Fava class
_—_—

Special form of ISP

il file

Serviet

c YNade by: YWaqar Siddh




Question No : 18 of 52 Marks: 1 (Budgeted Time 1 Min) (2]

Which of the follewing tag is used for defining mitiaization parameters of a servlet?

Arswor (Plnass seloct yourcorect opion WWW.VirtualAcademylLive.com

<imitialire-parameters® <firohalire-parameters>

-

<int-paramelers® <hut-parameters

<unt-param® <fmt-param>

<iutialze -param® <Amhalice-param>

c YNade by: YWaqar Siddh

Question No : 19 of 52 Marks: 1 (Budgeted Time 1 Min) a

Servlet mapping of a serviet is defined in file.

Answr ( legse sefect your corot pton WWW.VirtualAcademylive.com

ISP
-
HTML
=
Serviet
c ONade by: YWaqar Siddhe
Question No : 20 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

Which one of the following is NOT true for "Anonvmeous Inner Class"?

Answor (Piease selectyour corrct pton WWW.VirtualAcademylLive.com

Capahbilities of inner class

Has name

Much shorter

.| Diffcult to understand tmﬂdﬂ b,; w‘.an \siddhﬂ




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min) (2]

Which of the following iz NOT true for applets?

Answor (Piease selectyour corrct pton WWW.VirtualAcademylLive.com

They are independent of the operating system.

-

They are embedded in a Web page.

They can be run from a browser,

cmo the client's file systD [m"dg b,: wﬂqn' &iddhn

Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min) a

By , the ongmal request can be forwarded to the newst servlet

Answr ( legse selec your coret pton) WWW.VirtualAcademylive.com

both request dispatching and response redirecten

e

Hone of the gven opticns

eqquest dispatehing
[ —

[ i YDade by: Vy/aqar Siddhe

Question No : 23 of 52 Marks: 1 (Budgeted Time 1 Min) (2]

The obiect contams the wformation relevant to a serviet

Arswor {Plvase select your corect opion WWW.VirtualAcademylLive.com

ervietConfig
{r

Servietnfo

Configlnfo

_ [serescontae YPade by: Yy/aqar Siddhy




Question No : 24 of 52 Marks: 1 (Budgeted Time 1 Min) (=)

TWhich of the following 13 WOT appropnate for Page-centnic approach?

Answor (Plnass select yourcorect opion WWW.VirtualAcademylLive.com

The mantenance of the applcaton becomes a nightmare

~

& lot of code is also get dupheated

I Scahing of such lmd of apphcation 1 easy I 100%

~
mumrs a mudure of presentabon, busmess and data access logc e
YNade by: YWaqar Siddhe
Question No : 25 of 52 Marks: 1 (Budgeted Time 1 Min) Eﬂ
In . Java iz wtten inside HTML

Answor (Piease selectyour comroct opon WWW.VirtualAcademylive.com.

ISP
Serviets
~
Both Servlets and ISP
i
Wone of the given ophons -
: YNade by: YWaqar Siddh
Question No : 26 of 52 Marks: 1 (Budgeted Time 1 Min) Eﬂ

Controller centralires the logc for dispatching requests to the next wiew based on

Answor (Piease selectyour corrct pton WWW.VirtualAcademylLive.com

The Eequest TEL

-

Input Parameters

Application State

All of the given ophon [m"de b,: W‘lqn! &iddhﬂ




Question No : 27 of 52 Marks: 1 (Budgeted Time 1 Min) (2]

WSDL statids for

Answor  Please soloct your corrct opton WWW.VirtualAcademyLive.com
< eb Service Descrphion Language

N

Web Sernce Database Language

Web Service Data Language

~
Wone of the given ophions e
¢ YNade by: YY/aqar Siddhe
Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min) Eﬂ
UL stands for

el —_—_WWW.VirtualAcademyLive.com.

< Universal Description, Discovery & Integration (TTDDT) )
— T

e A

Universal Diata, Discovery & Integration (TDDI)

Universal Data, Database & Integratien (UDDL)

. Hone of the given optiong m"de b,: wnqn' $iddhl|

Question No : 29 of 52 Marks: 1 (Budgeted Time 1 Min) (2]

JEF 12 based framework

Answor (Pisase selectyour corrct pton WWW.VirtualAcademylLive.com

Both event and recquestiresponse

-

FequestTesponse
~

<

; Hone of the given ophons ”D"de b,: wnqn' 6iddhll




Question No : 30 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Managed Beanis JavaBeans which 12 defined m

Answer | Please select your cormect option |

Class file

WWW.VirtualAcademylLive.com

-

Source file

Wone of the given ophions

YNade by: YWaqar Siddh

Question No : 31 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Tdentfy which one iz web brochure

-

A

Answer | Please select your comrect option |

Amaron
~

WWW.VirtualAcademylive.com.

Face book
~

Oufard university site
#

E bay (Onlne shoppmg site)
~

YNade by: Yy/aqar Siddhe

Question No : 32 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Which package contans ArrayList?

_ ] WWW.VirtualAcademyLive.com
Q
o[ YD ade by: Yy/aqar Siddbe




Question No : 33 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

From which database this dnver belongs?
Jdbe OdbeDinver

4

Answer | Please select your comrect option |

COracle database
~

WWW.VirtualAcademylLive.com

Mysgl database

SOL databiase
~

Mz Access database
e

YNade by: YWaqar Siddh

Question No : 34 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Tuner iz ubalized by which of the following method?

wmnl

start()
~

N

WWW.VirtualAcademylive.com.

mutialize()
-~

schedule()

clone()
~

YNade by: Yy/aqar Siddhe

Question No : 35 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

What 15 ot true abeut commundcation soclet

o
M.

Answer | Please select your comect option |

It listens chient’s data requests:

WWW.;\_I"iIrtuaIAcademyLive.com

I
Tl

It compmuacates with chent.

It is erdinary socket

Tt runs on chent machne

YNade by: YWaqar Siddh




Question No : 36 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Yield iz used in which of the following scheduling?

Answer | Please salect your comect option |

WWW.VirtualAcademylLive.com

Found Eobm

Shortest yob Brst
e

YNade by: YWaqar Siddh

Question No : 37 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Which of the following 16 the server side errot

Answer | Pleass select your comect option |

401
~

WWW.VirtualAcademylive.com.

402

403

S03

(-

YNade by: Yy/aqar Siddhe

Question No : 38 of 52

Marks: 1 (Budgeted Time 1 Min) (=)

Which of the follewang protecol based server do we need to have while forwardmg emails?

Answer { Please salect your comect option |

SMTE
~

TOMCAT
£

/

WWW.VirtualAcademylLive.com

TELETET

YNade by: YWaqar Siddh




Question No : 39 of 52 Marks: 1 (Budgeted Time 1 Min) (2]

TWhen the JST fle compiles In which of the follovmng format does it changes?

Answor (Piease selectyour corrct pton WWW.VirtualAcademylLive.com

Tawa file
~
Huml file
~
Fervier file
(-
C55 Ale = -
c YNade by: YWaqar Siddhe
Question No : 40 of 52 Marks: 1 [Budgeted Time 1 Min) Eﬂ

When a user wants to access out application through browser which of the following folder of Tomcat does he access?

Answr ( legse selec your corot pton) WWW.VirtualAcademylive.com

COIrHTEO L

e

| webapp
NS

shared

o|™ ade by: Yaqar Siddhe

Question No : 41 of 52 Marks: 7 (Budgeted Time 4 Min) (=)

What 15 the differenice between chent socket and zserver socket?

Answor ( Please click here to Add Answr ) WWW.VirtualAcademyLive.com
Ol @] e o G ) Troow =]
[roms =[5 CIEEC) el ===

As soon as chent creates a socket that socket attempts to connect to the specified
SeTver.

* The server listens through a special kind of socket, which is named as server socket
* The sole purpose of the server socket s to isten for meoming request; it is not used
for commmnication

YNade by: YWaqar Siddh




Question No : 42 of 52 Marks: 7 (Budgeted Time 4 Min) (2]

What 15 tag ibrary?

Anewor (Piesse click hors o Add Answer ) WWW.VirtualAcademylLive.com

o B

=@ e AN E ]
[Fome B = A ===

The JSP Standard Tag Library (JSTL) is a collection of custom tag Ebranes

YNade by: YWaqar Siddh

Question No : 43 of 52 Marks: 2 (Budgeted Time 4 Min) a

EL (ezpression language) uses four different scopes to search an object o property. Wite the name of each scope

= [ ] L
; = WWW.VirtualAcademylive.com
. e A Map associating names &1 a
pageScope k- ' £
attributes
A Map associating names & values of requesr scoped
Scopes requestScope A Map associaling names 1es of request scopec T
anributes
i) Page Scop
sessionScope A Map associating names & values of session scoped ii) requestScope
' ] it} SessionScope
anmnbures | iv) applicaionScope
applicationScope A Map associating names & values of applicarion
scoped aftnbutes -
ONade by: YWaqar Siddhe
Question No : 44 of 52 Marks: Z [Budgeted Time 4 Min) Eﬂ

White a code statement to remowve the value aszociated with the "amaronSesmon” of object "sezsion”.

Answor ( Please click here to Add Answr ) WWW.VirtualAcademyLive.com
OmEan] e AN E ]
| e Do) o B===l==5=

o B

removeAttributeString)
o This method removes vales associated with the name

Session.rmoveAttnbutes ( ¥ amazoneSession"):

YNade by: YWaqar Siddh




Question No : 45 of 52 Marks: 3 (Budgeted Time & Min) (=]

Define polymorphise with respect to DryFruits, Fruits and FreshFruits? “Polymarphic” literally means “of multiple shapas” and in the context of OOP, -
Palymorphic means “having multiple behaviors”,
Genrl Idea of polymarephism ) * A parant class refarence can point to the subclass objects because of is-a relationship
*A polymorphic method results in different actions depending on the object being
referenced

o Also known as late binding er run-time binding

Anewor (Piesse click hors o Add Answer ) WWW.VirtualAcademylLive.com

N a@ny] ¥ tam|v = |ﬁ|7_!J:.- AL
| | | A [ A |_j = ._—_I'_g;; FiE

&
§
1«

Fruits is an Abstract class , and DeyFruits, and FreshFruits Both are Child classes and have to make
them cancreate classes

YNade by: YWaqar Siddh

Question No : 46 of 52 Marks: 3 (Budgeted Time & Min) a

Why HTTP is made stateless protocel? Explain with sxample

P sl o S WWW.VirtualAcademyLive.com.
sl @] L e o | E G e g [ oo =]
o = Janal Al HsirdE==stess

HTTP is a stateless protocol. Every request is considered
independent of every other request. But many applications need to maintain a conversational
state with the client. A shopping cart is a classical example of such conversational state.

| YNade by: Yy/aqar Siddhe

Question No : 47 of 52 Marks: 3 (Budgeted Time 6 Min)  (2)|

What impact a JavaBeans object can preduce when it is stored i an Application?

Anewor (Piesse click hors o Add Answer ) WWW.VirtualAcademylLive.com
=wEHER] s e
| B piEE T e

for point foure, NOte serializeation..

These conventions are: pasing the objects.....

* A bean class must have a zero argument constructor
# A bean class should not have any public instance variables/attributes (fields)
® Private values should be accessed through setters/getters

* A bean class must befSErialiZzabile

serialize an object means to convert its state to a byte stream zo that the byt
stream can be reverted back into a copy of the object. A Java object is
serializable if its class or any of its superclasses implements either the
java.lo.Serializable interface or its subinterface

YNade by: YWaqar Siddh




Question No : 48 of 52 Marks: 3 (Budgeted Time 6 Min)  (2)|

Why do we use chent side vahdanon?

anewor  Please slick hors to Add Answr WWW.VirtualAcademyLive.com
=@ e [ d [ G @) oo =)
[orms | B Al Asira|lE===[=:

There are two good reasons to use client-side validation:
® It's 2 fast form of validation: if something's wrong, the alarm is triggered upon submission

of tha form.

* You can safely display only one error at a time and focus on the wrong field, to help ensure
that the user correctly fills in all the details you need

ONade by: Y1aqar \Qlddhn

Question No : 49 of 52 Marks: 5 (Budgeted Time 10 Min)

Differentiate between JSF'z and servlets with example codes. JSP that is displaying a current date. This page more looks like a
HTML page except of two strangely written lines of codes. Also there are no signs of

doGet{), doPostf).

—
[ ] L ] F—
Answor (Please ik hers to Add Answer ) WWW.VirtualAcademyLlive.com. =
& A [@ oo = serviets
| - import javax.serviet.http.*; must call , do get, or do post
JSP code-- import javax.serviet.”;
“ public class abc extend HttpServiet{
:::Bh%:age import=‘java.util.™ %> public void dopost{http ServietRequest request,
hody> httpServietResponse response){
Eflﬂ:em Date is:<%=new Date(}%> E;i?t'uﬂﬁter A T, gy I
xg;w OUT.PRINT("<html>")
OUT.PRINT("<body=>")
— Wagar S
OUT.PRINT{"<h1>hello</h1>") tm"de b,. “qn' Iddhll

Question No : 50 of 52 Marks: 5 (Budgeted Time 10 Min) (=)

Usze the following Bean placed m “IslamPaules” package using JEP action element Value of amount is taken from the form field “amount” =

public class ZakatBean mplements Senalizable [
provate mt amount,

private mt zakat;

Answor (Plnase click hare to Add Answer) WWW.VirtualAcademylLive.com
R e = el | Al |EI [1oo =]

[Nerme ~1[o o | e u| ===ll==

YNade by: YWaqar Siddh




Question No : 51 of 52 Marks: 5 (Budgeted Time 10 Min) (=)

What are benefits of partiionmng the application mlogical layers?

Anewor (Piesse click hors o Add Answer ) WWW.VirtualAcademylLive.com

ST v N B AR L |
T ][5 = R

Each layer performs a specific functionality which should not be mixed with other layers. Layers are isolated from each other to
reduce couplng betwesn them but they provide nterfaces to communicate with each other

YNade by: YWaqar Siddh
Marks: 5 (Budgeted Time 10 Min) (=

-

Question No : 52 of 52

Followmg are the contents of file ] o

My natne is al
My roll po gz be020400007

L am studymg java. il
Java 15 very easy

e { Pheee gtk s 1o A4 Aoowr WWW.VirtualAcademyLive.com.
-2 e ':_'.iffl"-"lﬂlfr} Al 1'|E||1nu%ﬂ|
e A = Anirnee=sEes=

YNade by: Yy/aqar Siddh




